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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ Ü¶Û¼Û×µÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 

 
1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ Ü¶Û¼Û×µÛ ÅÛ”ÛÛé : 70 

 (A) ½ÛÛÁõ©Û¾ÛÛ× ÉÛÐéüÁõàïõÁõ¨Û …¶Ûé Í¬ÛÇÛ×©ÛÁõ   

  (B) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛÛÇ¾Û›æ÷Áõà   

 (C) ½ÛÛÁõ©Û¾ÛÛ× ÍÛÛ¾ÛÛÜ›÷ïõ ÍÛÅÛÛ¾Û©Ûà (”ýÛÛÅÛ, ÈýÛÈÛÐüÛÁõ …¶Ûé ¸ÛóÊ¶ÛÛé)   

 (D) ½ÛÛÁõ©Û¾ÛÛ× ÍÛ¾ÛÛ×©ÛÁõ …¬ÛÙ©Û×ªÛ 

 

___________ 

 

 

  



JF-110 2  

Seat No. :  _______________ 
  

JF-110 
January-2016 

B.A. Sem.-VI 

CC-315 : Economics  

(EA : Economic Essays-2) 
 

Time :  3 Hours]  [Max. Marks : 70 

 

Instruction : All essays carry equal marks. 

 

     

1. Write any two essays from the following options : 70 

 (A) Urbanization and Migration in India. 

 (B) Child Labour in India. 

 (C) Social Security (Concept, Practice and Issues in India) 

 (D) Parallel Economy in India. 
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1. …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûä× ÍÈÛÄõ¸Û, ïõÛýÛÙ“ÛéªÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ˜Û˜ÛÛë. 14 

      …¬ÛÈÛÛ 

 (a) ¸ÛóïõÛÁõ-1 …¶Ûé ¸ÛóïõÛÁõ-2¶Ûà ½ÛæÅÛÛé ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (b) t-ÜÈÛ©ÛÁõ¨Û ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

2. ÍÛÛ¾ÛÛ¶ýÛ ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ (OLS) …Û•Û¨Û¶Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 14 

     …¬ÛÈÛÛ 

 (a) Ü¶Û¨ÛÛÙýÛïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ (r2) ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (b) ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ …Û•Û¨ÛïõÛé¶Ûä× ÜÈÛ˜ÛÁõ¨Û …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û þùÛéÌÛ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

3. ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ …é¤øÅÛé ÉÛä× ? ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 14 

     …¬ÛÈÛÛ 

 (a) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (b) ªÛäÜ¤ø¸Ûþù¶ÛÛ ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 

4. …Ü½ÛßÛÛ¶Û¶Ûà ÍÛ¾ÛÍýÛÛ ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 14 

     …¬ÛÈÛÛ 

 (a) ýÛä•Û¸Û©ÛÕ ÍÛ¾ÛàïõÁõ¨Û ¾ÛÛé¦éøÅÛ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (b) ¸ÛÁõÛé“Û ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ …Û•Û¨Û¶Û ¸Û±ùÜ©Û ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
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5. ¶Ûà˜Ûé¶ÛÛ ¸Ûó©ýÛéïõ ¸ÛóÊ¶Û¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ”ÛÁõÛé …¶Ûé …ÛþùÉÛÙ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : 14 

 [¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé - ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä̈ Û] 
 

 (1) χ2(chi-square)-ÜÈÛ©ÛÁõ¨Û¶Ûà Ýïõ¾Û©ÛÛé 
   (a) +1 …¶Ûé –1 ¶Ûà ÈÛ˜˜Ûé (b) –∞ ¬Ûà +∞ ¶Ûà ÈÛ˜˜Ûé 
   (c) 0 ¬Ûà +∞ ¶Ûà ÈÛ˜˜Ûé (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (2) …ÛþùÉÛÙ Ý¼Ûþäù …Û•Û¨Ûïõ¶ÛÛ ÅÛ“Û¨ÛÛé 
   (a) …¶ÛÜ½Û¶Û©Û©ÛÛ …¶Ûé ïõÛýÛÙþù“Û©ÛÛ 
   (b) ÍÛäÍÛ×•Û©Û©ÛÛ …¶Ûé …¶ÛÜ½Û¶Û©Û©ÛÛ 
   (c) …¶ÛÜ½Û¶Û©Û©ÛÛ …¶Ûé ÍÛäÍÛ×•Û©Û©ÛÛ 
   (d) …¶ÛÜ½Û¶Û©Û©ÛÛ, ÍÛäÍÛ×•Û©Û©ÛÛ, ïõÛýÛÙþù“Û©ÛÛ …¶Ûé ¸ÛýÛÛÙ̧ ©Û©ÛÛ 
 

 (3) ”ÛÛé¤øà ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶ÛÛé …ÍÈÛàïõÛÁõ …é¤øÅÛé 
   (a) ”ÛÛé¤øÛé Ü¶Û¨ÛÙýÛ (b) ÍÛÛ˜ÛÛé Ü¶Û¨ÛÙýÛ 
   (c) ¸ÛóïõÛÁõ-1 ½ÛæÅÛ (d) ¸ÛóïõÛÁõ-2 ½ÛæÅÛ 
 

 (4) Ü¶Û¨ÛÛÙýÛïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ (r2) = _____ 

   (a) 
Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÈÛ•ÛÙ ýÛÛé•Û
ïäõÅÛ ÈÛ•ÛÙ ýÛÛé•Û   (b) 

ÍÛ×ÜÈÛÜþù©Û ÈÛ•ÛÙ ýÛÛé•Û
ïäõÅÛ ÈÛ•ÛÙ ýÛÛé•Û   

   (c) 
…ÈÛÜÉÛÌ¤ø ÈÛ•ÛÙ ýÛÛé•Û
ïäõÅÛ ÈÛ•ÛÙ ýÛÛé•Û   (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 

 

 (5) ›Ûé E (b̂o) = bo ÐüÛéýÛ, ©ÛÛé …Û•Û¨Ûïõ – 

   (a) ËÛéÌ¥ø  (b) …¶ÛÜ½Û¶Û©Û 
   (c) ÍÛäÁéõ”Û  (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (6) ÍÛÛ¾ÛÛ¶ýÛ ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ (OLS) ¸Û±ùÜ©Û¶ÛÛ …Û•Û¨ÛïõÛé – 

   (a) ËÛéÌ¥ø …¶Ûé ÍÛäÁéõ”Û (b) ÍÛäÁéõ”Û …¶Ûé …¶ÛÜ½Û¶Û©Û 
   (c) ËÛéÌ¥ø …¶Ûé …¶ÛÜ½Û¶Û©Û (d) ËÛéÌ¥ø, ÍÛäÁéõ”Û …¶Ûé …¶ÛÜ½Û¶Û©Û  
 

 (7) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ¶ÛÛ ¸ÛæÈÛÙÜ¶Û¨Ûâ©Û ˜ÛÅÛÛé ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛ¬Ûà ¬Û©Ûà ÍÛ¾ÛÍýÛÛ 
   (a) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ (b) ªÛäÜ¤ø¸Ûþù¶Ûä× ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û 
   (c) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ (d) …Û¾ÛÛ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (8) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ¾ÛÛé¦éøÅÛ¾ÛÛ× cov(uiuj) = 0 µÛÛÁõ¨ÛÛ¶ÛÛé ½Û×•Û ¬ÛÛýÛ, ©ÛÛé ¬Û©Ûà ÍÛ¾ÛÍýÛÛ – 

   (a) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ (b) ªÛäÜ¤ø¸Ûþù¶Ûä× ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û 
   (c) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ (d) …Û¾ÛÛ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
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 (9) ›Ûé Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ¾ÛÛé¦éøÅÛ¾ÛÛ× E(u) = 0 …¶Ûé E(u)2 = σ2
u
 (…˜ÛÇ) µÛÛÁõ¨ÛÛ ¶Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé, ©ÛÛé 

¬Û©Ûà ÍÛ¾ÛÍýÛÛ – 

   (a) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ (b) ªÛäÜ¤ø¸Ûþù¶Ûä× ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û 
   (c) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ (d) …Û¾ÛÛ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (10) ¾ÛÛé¦éøÅÛ …¶Ûé …ÈÛÅÛÛéïõà©Û …Û×ïõ¦øÛïõàýÛ ¾ÛÛÜÐü©Ûà ÍÛÛ¬Ûé¶Ûà ÍÛäÍÛ×•Û©Û©ÛÛ¶Ûà ¸ÛÜÁõïõÅ¸Û¶ÛÛ ¶Û‘õà ïõÁõÈÛà ©Ûé 
ïõˆ ÍÛ¾ÛÍýÛÛ ™öé ? 

   (a) …Ü½ÛßÛÛ¶Û (b) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ 
   (c) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (11) ›Ûé D = 50 – 5P 

   S = – 10 + 5P 

   D ≡ S 

  šýÛÛ× D = ¾ÛÛ×•Û, S = ¸ÛäÁõÈÛ¥øÛé, P = Ýïõ¾Û©Û, ¼Û›ÛÁõ ¾ÛÛé¦éøÅÛ¶Ûà ÍÛ¾Û©ÛäÜÅÛ©Û Ýïõ¾Û©Û =  

   (a) 6  (b) 3 

   (c) 2  (d) 5 

 

 (12) …éïõ ¼Û›ÛÁõ ¾ÛÛé¦éøÅÛ¾ÛÛ× ÍÛ¾ÛàïõÁõ¨ÛÛé¶Ûà ÍÛ×”ýÛÛ (G) = 3, ïäõÅÛ ˜ÛÅÛÛé¶Ûà ÍÛ×”ýÛÛ (k) = 7 …¶Ûé ïõÛé̂  …éïõ 
ÍÛ¾ÛàïõÁõ¨Û¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛÛ ˜ÛÅÛ¶Ûà ÍÛ×”ýÛÛ (M) = 5 ÐüÛéýÛ, ©ÛÛé ïõ“ÛÛ¶Ûà ÉÛÁõ©Û ¸Ûó¾ÛÛ¨Ûé …Û ÍÛ¾ÛàïõÁõ¨Û – 

   (a) …Ü©Û …Ü½ÛßÛéýÛ (b) ˜ÛÛé‘õÍÛ …Ü½ÛßÛéýÛ  

   (c) …Å¸Û …Ü½ÛßÛéýÛ (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (13) t-ÜÈÛ©ÛÁ¨Û¶Ûä× ÍÛæªÛ =  

   (a) 
X – µ

S

n

  (b) 

n
∑

i = 1
 (oi – ei)

2

ei
 

   (c) 
S2

1

S2
2

  (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 

 

 (14) χ2 (chi-square) ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÛæªÛ =   

   (a) 
X – µ

S

n

  (b) 

n
∑

i = 1
 (oi – ei)

2

ei
 

   (c) 
S2

1

S2
2

  (d) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 

____________ 
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1. What is Econometrics ? Discuss it’s nature, scope and limitations. 14 

      OR 

 (a) Write short note on Type-I and Type-II errors. 

 (b) Write short note on t-distribution. 

 

2. Explain Ordinary Least Square (OLS) estimation method. 14 

     OR 

 (a) Write short note on coefficient of determination (r2). 

 (b) Write short note on variance and standard error of least square estimators. 

 

3. What is multi-collinearity problem ? Discuss about multi-collinearity problem. 14 

     OR 

 (a) Write short note on autocorrelation. 

 (b) Write short note on Hetroscedasticity of error term. 

 

4. Explain the Identification Problem with the help of proper example. 14 

     OR 

 (a) Write short note on simultaneous equation model. 

 (b) Write short note on Indirect least square method. 
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5. Choose the most correct and ideal answer from the each question of the following : 14 

 [Multiple Choice Questions – each question carry 1 (one) mark) 
 

 (1) The values of  χ2(chi square) distribution is 

   (a) Between + 1 to – 1 (b) Between – ∞ to + ∞ 

   (c) Between 0 to + ∞ (d) None of the above 

 

 (2) The properties of ideal point estimators are 

   (a) Unbiasedness and Efficiency 

   (b) Consistency and Unbiasedness. 

   (c) Unbiasedness and Consistency 

   (d) Unbiasedness, consistency, efficiency and sufficiency 

 

 (3) Non-acceptance of wrong hypothesis means 

   (a) Wrong decision (b) Right decision 

   (c) Type-I error (d) Type-II error 

 

 (4) Correlation coefficient of determination (r2) =  

   (a) 
Regression sum of square

Total sum of square
  (b) 

Explained sum of square

Total sum of square
  

   (c) 
Residual sum of square

Total sum of square
  (d) None of the above 

 

 (5) If E (b̂o) = bo, then estimator is 

   (a) Best  (b) Unbiased 

   (c) Linear (d) None of the above 

 

 (6) Estimators of ordinary least square (OLS) method is 

   (a) Best and Linear (b) Linear and Unbiased 

   (c) Best and Unbiased (d) Best, Linear and Unbiased  

 

 (7) The problem because of the relation between exogenous variables in regression is 

   (a) Auto correlation (b) Hetroscedasticity of error term 

   (c) Multi-collinearity (d) None of the above 

 

 (8) The problem because of breaking the assumption cov(uiuj) = 0 in regression 

model is  

   (a) Auto correlation (b) Hetroscedasticity of error term 

   (c) Multi-collinearity (d) None of the above 
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 (9) The problem, because of if we do not assume in regression model, that E(u) = 0 

and E(u)2 = σ2
u
 (constant) 

   (a) Auto correlation (b) Hetroscedasticity of error term 

   (c) Multi-collinearity (d) None of the above 

 

 (10) What is the problem that to determine the hypothesis of model and consistency 

with the observed statistical information ? 

   (a) Identification (b) Auto correlation 

   (c) Multicollinearity (d) None of the above 

 

 (11) If D = 50 – 5P 

   S = – 10 + 5P 

   D ≡ S 

  Where D = Demand, S = Supply, P = Price, then equilibrium price of the market 

model is =  

   (a) 6  (b) 3 

   (c) 2  (d) 5 

 

 (12) In a market model number of equation (G) = 3, total number of variables (k) = 7 

and in anyone equation include number of variables (M) = 5, then according to 

order condition this equation is 

   (a) Over identify (b) Exact identify  

   (c) Under identify (d) None of the above 

 

 (13) Formula of t-distribution =  

   (a) 
X – µ

S

n

  (b) 

n
∑

i = 1
 (oi – ei)

2

ei
 

   (c) 
S2

1

S2
2

  (d) None of the above 

 

 (14) Formula of χ2 (chi-square) distribution =  

   (a) 
X – µ

S

n

  (b) 

n
∑

i = 1
 (oi – ei)

2

ei
 

   (c) 
S2

1

S2
2

  (d) None of the above 

__________ 


